9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

6 |8 |1 |7 [3]9]|5]4|2
219154 |1 6|3 |78
71314512816 |11]9
4 16 |83 |7 11925
1 |7 1219|8514 3|6
9 15131642187
3146129711851
5111718164129 |3
8 (219 (1[|5|3]|7]|6 |4
6 3714119 2|1 58
2 (4 (8|1 |5|3|9]7]6
1 /5916 |8 |714|2 |3
4 18126 |95 3|7
3916|5742 |81
5171213181649
916 |3 712|581 |4
711 /5184|6392
812141193 1 1|7]|6]5
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